Tables and problems discussed in the videos:

Videos (1) - (2)

Type of Hydrogen Chemical Type of Hydrogen ~ Chemical

(R = alkyl, Ar = aryl) Shift (9)* (R=alkyl, Ar=aryl)  Shift (6)*
(CHy) Si 0 (by definition) (|ﬁ|)
- il RCOCH, 37-39
RCHR 19-14 %
R,CH 14-17 \_[

R,C=CRCHR, 16-26 ROOUME - ALY
AI{'H 2 0 2 5 RGH!BT 3.4-3.‘5
Kl :! Py At A5 ;
Jiclin o508 RCH,(1 36-38

% mind =y
ROH 0560 RCH,F 4445
RCH,OH 3440 ArOR 45-47
RCH,OR 33-40 RC=Cl, 463
- P RC=CHR 5057
5 Al 65-85
I| 0
RCCH, 21-23 [
. RCH 05-10.
I 0
RCCH,R 99-96 ||
RCOH 10-13

* Values are approximate. Other atoms within the molecule may cause the signal to appear
outside the ranges.



Videos (3) — (5)
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Chermical Shift (5)




Videos (6) — (8)
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Videos (9) — (10)

C,oH43Cl: 7.230, s (broad), 5H;
3.930, s, 2H;

1.399, s, 6H




Video (11) —(12)
CgH]oO

7.198, s, SH
3.716,t,2H
2.776,t,2H

2.449, s (broad), 1H

Video (13) — (14)
C3H6BI‘2

3.59, t, 4H

2.369, quin, 2H

Video (15)

CioHi3Cl

7.239, s (slightly broadened), SH
3.538, s, 2H

1.399, s, 6H



Video (16) — (20)
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